
 

1 

 

D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST II/HALF YEARLY EXAMINATION 

SESSION: 2023 – 2024 

Class: V                                                                                                  Maximum Marks: 80 

Subject:  Hindi                                                                             Time: 2Hours 30Minutes 

 

आव�यक �नद
श: 

• इस ��न-प	 म� कुल 6 प�ृठ ह� और ��न� क� सं�या 18 ह�। 

• इस ��न-प	 म� दो खडं ह� – खडं ‘अ’ और खडं ‘ब’। 

• ��न� के उ*तर ,मशः /ल0खए। 

• सभी ��न अ4नवाय6 ह�। 

 खडं –अ  

1. क) ��तुत ग�यांश को पढ़कर पूछे गए ��न% के उ'तर (ल*खए:– 

भोजन जीवन को बनाए रख सकता है और बचा सकता है। यह जीवन को न�ट भी 

कर सकता है। उ;चत भोजन औष;ध का काय6 करता है, ?कंतु अनु;चत भोजन @वष का 

काय6 करता है। भोजन क� गुणव*ता और मा	ा का थोड़ा Eयान रखने से हम FवFथ 

और �सGन रह�गे। यHद हम सभी �कार क� चीज़� खाते रह�, तो हम बीमार हो जाएँगे। 

हम जंक फूड, चीनी युMत या तले-भुने FनैMस के /लए भारN भुगतान करते ह�। 

नतीजतन हम बीमार पड़ जाते ह�। हम �कृ4त माँ से दरू हो गए ह�। हम FवOछता के 

4नयम�, FवFथ आहार और अपने बड़� क� सलाह पर हँसते  ह�। इसने मधमेुह को 

जGम Hदया है। हम अपने बOच� को अMसर चॉकलेट, केक और आइस,�म भी देते ह�। 

हम हर Hदन पाHट6य� म� भी जाते ह� या बाहर खाना खाते ह�। इस तरह हम मोटापे और 

मधमेुह को आमंS	त करते ह�। 

 

 i) ��तुत ग�यांश का क, -.य भाव और क, -.य भाव का समथ4न करने वाले दो 5व�तार   

  6लो-चाट4 के मा:यम से (ल*खए। 

 (2) 

 ii) उपयु4>त ग�यांश के आधार पर कारण-�भाव कA ता(लका पूर. कAिजए- 

कारण            �भाव 

क)           ? नतीजतन हम बीमार पड़ जाते ह�। 

ख) हम� उ;चत भोजन करना 

चाHहए Mय�?क 

? 

 

 

 

 

 

 

   (2) 

 

 

 

 

 iii) अनुEचत भोजन करने के दो दFु�भाव (ल*खए। (2) 

 ख) ��तुत ग�यांश को पढ़कर पूछे गए ��न% के उ'तर (ल*खए:– 

वाणी एक अनमोल वरदान है। वाणी से हN TयिMत के Tयवहार का पता चलता है। 

कोयल और कौवा दोन� का रंग काला है ?कंतु कोयल अपनी मीठW वाणी से सबका 

मन मोह लेती है जब?क कौवे क� काँव–काँव ?कसी को अOछW नहNं लगती। मीठW 
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वाणी का �भाव बहुत Tयापक होता है। मीठW वाणी से सभी काय6 /सX ध हो जाते ह�। 

मधरु बोलने वाले TयिMत समाज म� बहुत आदर �ाYत करते ह�। मधरुभाषी के मुख 

से 4नकला एक–एक शZद सुनने वाले के मन को लुभाता है और उसके संपक6  म� 

आने वाला TयिMत उसके वश म� हो जाता है। 

 i) कोयल और कौवे के बीच एक-एक अतंर और एक समानता ‘वेन-आरेख’ के मा:यम  

  से (ल*खए। 

(2) 

 ii) मीठM वाणी बोलने के दो �भाव (ल*खए। (2) 

2. �नNन(ल*खत शOद% के सह. संबंध वाले 5वकQप छाँटकर (ल*खए:– (1×3=3) 

 क) सुंदर  : कु]प   ::     नम  :   ? 

 (i) गीला         (ii) धपू           (iii) शु�क             (iv) छाँव  

ख) अरमान : इOछा  ::   �शंसा   : ? 

 (i) 4नदंा         (ii) दखुी          (iii) खशुी             (iv) तारNफ़ 

ग) लाल  : गुलाब   ::    गरम  :  ? 

 (i) चाय              (ii) बरफ़               (iii) ठंडा                    (iv) नरम 

 

3. �नNन(ल*खत ��न% के उEचत 5वकQप चनुकर (ल*खए:-  (1×2=2) 

 क) धरतीपटक /सहं ने मुखजोर /सहं को हरा Hदया। �Fतुत वाMय म� रेखां?कत शZद�  

   के /लए उ;चत मुहावरा चनु कर /ल0खए।                        

 (i) नौ–दो cयारह होना                  (ii) दाँत खd टे करना   

 (iii) आग बबूला होना                  (iv) अगँूठा Hदखाना  

ख) ‘महा*मा के चहेरे पर तेज था।’ �Fतुत वाMय म� आए ‘तेज’ शZद का अथ6 Mया है?  

 (i) तीe ग4त      (ii) चमक       (iii) �सGनता         (iv) उदासी  

 

4. �नNन(ल*खत कथन% को पढ़कर सह. 5वकQप छाँटकर (ल*खए:-  

क) कथन : ‘EचWकार’ शOद म, ‘कार’ �'यय है।  

   कारण : जो शOदांश मूल शOद के अतं म, जुड़कर नए शOद बनाते हZ और उनके   

          अथ4 म, 5वशेषता या बदलाव लाते हZ, उ]ह, ‘�'यय’ कहते हZ।  

(i) कथन और कारण दोन� सहN ह� Mय�?क कारण कथन क� सहN Tया�या करता है।  

(ii) कथन और कारण दोन� सहN ह�, परंतु कारण कथन क� सहN Tया�या नहNं करता  

   है।  

(iii) कथन सहN है, परंतु  कारण  ग़लत है।  

(iv) कथन ग़लत है, परंतु  कारण  सहN है।  

ख) कथन : ‘आठ–दस ^दन म, आएँगे।’ ��तुत वा>य भूतकाल का उदाहरण है। 

    कारण : िजस शOद या वा>य से आने वाले समय का पता चलता है, वह    

            भ5वFयत ्काल कहलाता है।  

(1×2=2) 
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(i) कथन और कारण दोन� सहN ह� Mय�?क कारण कथन क� सहN Tया�या करता है।  

(ii) कथन और कारण दोन� सहN ह�, परंतु कारण कथन क� सहN Tया�या नहNं  करता  

    है।  

(iii) कथन सहN है, परंतु कारण ग़लत है।  

(iv) कथन ग़लत है, परंतु कारण सहN है।  

5. �नNन(ल*खत वा>य% को सह. शOद चनुकर पूरा कAिजए:-  

क) रंग का घोल काफ़� ---------------- हो गया है।  (गाड़ा / गाढ़ा ) 

ख) गुफ़ाओं म� सुंदर ------------------ थे।  (;च	 / मू4त6याँ)   

(1×2=2) 

6. क) नीच े^दए गए EचW के आधार पर एक 5वशषेण (ल*खए:-  

 

 

 

ख) नीच े^दए गए EचW के आधार पर पया4यवाची शOद (ल*खए:-  

 

 

 

(1×2=2) 

 

 

7. �नNन(ल*खत शOद% म, उEचत जगह पर च-ंbबदं ु(◌ँ ) लगाकर (ल*खए:-  

क) आएगे                               ख) आगन 

(1×2=2) 

 

8. �नNन(ल*खत वा>य% म, उEचत 5वराम–Eचe न लगाकर वा>य% को दोबारा (ल*खए:-   

क) हाय अब Mया होगा  

ख) ताईजी बोलNं आलू तो एकदम मीठे ह� 

(1×2=2) 

 

9. �तंभ (अ) वाले शOद% को �तंभ (ब) म, ^दए गए समान अथ4 वाले शOद% के साथ 

(मलाकर (ल*खए:-    

�तंभ (अ)         �तंभ (ब) 

         क) शिMत   i) गुFसा 

         ख) बुX ;धमान   ii) ताकत 

         ग) ,ोध      iii) समझदार 
 

(1×3=3) 

 

 

 

 

 

 

10. �नNन(ल*खत कथन% को पढ़कर सह. या ग़लत (ल*खए:-  

क) ‘मू4त6’ शZद का बहुवचन ]प ‘मू4त6याँ’ है। (    ) 

ख) ‘िजसे कहा न जा सके’ वाMयांश के /लए एक शZद ‘कथनीय’ होगा। (   ) 

(1×2=2) 
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11. 

 

 

�नNन(ल*खत ग�यांश को पढ़कर सह. 5वकQप छाँटकर (ल*खए:-    

मंुडाओं ने अपनी योजना का पहला चरण 25 Hदसंबर 1898 को शु] ?कया। उGह�न े

ईसाई बने मंुडाओं को अpेंज़� के 0खलाफ़ खड़ ेहोने के /लए तैयार ?कया। ?फर खGुती, 

तमार, वा/सया और राँची के थान� पर हमले ?कए। 3 फरवरN 1900 का Hदन 

दभुा6cयपूण6 रहा। /सहंभूम म� Sबरसा को ;गरsतार कर राँची जेल भेज Hदया गया। उन 

पर और उनके सा;थय� पर मुकदमा चलाया गया। 9 जून 1900 को जेल म� हN हैजे से 

Sबरसा क� म*ृयु हो गई। उनके कुछ सा;थय� को म*ृयुदंड Hदया गया तो कुछ को काला 

पानी क� सज़ा दN गई। 

क) मुंडाओं ने अपनी योजना का पहला चरण कब शुj kकया? 

(i) 3 फरवरN 1900        (ii) 25 Hदसंबर 1898  

(iii) 9 जून 1900         (iv) 24 अगFत 1895  

ख) 3 फरवर. 1900 का ^दन दभुा4mयपूण4 >य% बताया गया है? 

(i) Sबरसा मंुडा क� म*ृयु के कारण  

(ii) Sबरसा मंुडा क� ;गरsतारN के कारण  

(iii) मंुडाओं को अpेंज़� के 0खलाफ़ खड़ ेहोने के कारण  

(iv) सा;थय� को काला पानी क� सज़ा दN जाने के कारण  

ग) bबरसा मुंडा कA म'ृयु कब हुई? 

(i) 3 फरवरN 1900                (ii) 24 अगFत 1895 

(iii) 9 जून  1900                (iv) 25 Hदसंबर 1899 

घ) (सहंभूम म, bबरसा को Eगर6तार कर कहाँ भेजा गया? 

(i) @वदेश        (ii)  /सहंभूम    (iii) बनारस जेल     (iv) राँची जेल 

ङ) bबरसा मंुडा कA म'ृयु कैसे हुई? 

(i) हैजे से       (ii) तपेHदक से    (iii) म*ृयुदंड से      (iv) मधमेुह से           

(1x5=5) 

 

12. �नNन(ल*खत काsयांश पर आधाtरत बहु5वकQपी ��न% के सवा4Eधक उपयु>त 5वकQप 

चनुकर (ल*खए:- 

कहNं करार� म� 4छपती 

मैदान� म� आती है 

खेल खेलती लुका–4छपी 

Sबलकुल हN खो जाती है 

 

बहुत तेज़ थी पव6त पर 

ले?कन नीच ेजब आई 

धीमी-धीमी चाल हुई 

(1x5=5) 
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जैसे थककर सुFताई 

पानी Sबखराती जाती 

हuरयालN फैलाती है 

चाहे िजतना पानी लो 

मन म� बुरा न लाती है 

क) ��तुत काsयांश म, kकसके �छपने कA बात कह. गई है? 

(i) लहर� क�      (ii) मैदान� क�      (iii) नHदय� क�      (iv) करार� क�  

ख) न^दय% कA ग�त कहाँ तेज़ हो जाती है? 

(i) सागर म�       (ii) पव6त� पर       (iii) मैदानी भाग म�  (iv) लहर� से /मलकर 

ग) नद. चार% ओर >या फैलाती है? 

(i) अधंकार       (ii) �काश         (iii) हuरयालN        (iv) /मd टN 

घ) न^दय% से हम >या सीखते हZ? 

(i) ई�या6 करना    (ii) परोपकार करना  (iii) ,ोध करना     (iv) अहंकार करना  

ङ) पव4त% से नीच ेआते ह. नद. कA चाल कैसी हो जाती है?  

(i) सीधी         (ii) धीमी           (iii) तज़े           (iv) टेढ़N                   

                             खडं-ब                    

13. �नNन(ल*खत म, से kक]ह.ं चार ��न% के उ'तर (25-30 शOद% म,) (ल*खए:-  

क) होजा अगर बादशाह का वज़ीर बन जाता तो Mया होता? 

ख) सरदार वvलभ भाई पटेल क� ?कन दो चाuरS	क @वशषेताओं को आप अपने जीवन  

   म� अपनाना चाह�गे? 

ग) पwी शाम म� सुख-दखु क� बात� एक-दसूरे से कहते ह�। आप अपने मन क� बात�  

   ?कसे बताते ह� और Mय�? 

घ) हम� अपने भय पर 4नयं	ण करने के /लए Mया-Mया करना चाHहए? 

ङ) आप �कृ4त का Eयान ?कस �कार रखते ह�?  

(2x4=8) 

14. �नNन(ल*खत म, से kक]ह.ं चार ��न% के उ'तर (40-50) शOद% म, (ल*खए:- 

क) होजा ने महल क� ओर जाते समय अपने साथ Mया-Mया सामान /लया और होजा   

   के ऐसा करने के पीछे Mया कारण हो सकता है? 

ख) मुखजोर /सहं और धरतीपटक /सहं के चuर	 म� ?कसका चuर	 आपको अOछा नहNं  

   लगा? ?कGहNं तीन कारण� को अपने शZद� म� /ल0खए। 

ग) अजंता के ;च	 अनेक कलाकार� क� /मलN-जुलN �4तभा के उ*कृ�ट नमूने ह�।   

   ‘अजंता क� सैर’ पाठ के आधार पर /ल0खए ?क ऐसा Mय� कहा गया है? 

घ) अpेंज़ी राज समाYत करने के /लए Sबरसा मंुडा ने Mया-Mया ?कया? 

ङ) पेड़� क� तरह हम� भी परोपकारN बनना चाHहए, Mय�? 

(3x4=12) 
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                              *************** 

15. �नNन(ल*खत म, से kकसी एक 5वषय पर अनुvछेद (80 शOद% म,) (ल*खए:- 

क) रwाबंधन                           ख) मेरा @�य खेल  

ग) @वXयाथ{ जीवन म� अनुशासन का मह**व   

(5×1=5) 

16. �नNन(ल*खत म, से kकसी एक 5वषय पर (100 शOद% म,) पW (ल*खए:- (5×1=5) 

 क) जीवन म� समय का सहN उपयोग करने के @वषय म� बताते हुए अपनी छोटN बहन  

   को प	 /ल0खए। 

ख) चार Hदन� के अवकाश हेतु �ाचाय6 को �ाथ6ना प	 /ल0खए। 

 

17. �नNन(ल*खत म, से kकसी एक 5वषय पर 5वwापन (50-60 शOद% म,) (ल*खए:- (5×1=5) 

 क) ‘साबुन’ का एक आकष6क @व|ापन तैयार क�िजए। 

ख) पया6वरण के �4त जाग]कता बढ़ाने के /लए एक @व|ापन तैयार क�िजए।  

 

18. �नNन(ल*खत म, से kकसी एक 5वषय पर संवाद-लेखन (60-70 शOद% म,) (ल*खए:- (5×1=5) 

 क) छुd Hटय� म� कहNं घूमने जाने के @वषय पर @पता और पु	 के बीच हुई बातचीत को  

   संवाद के ]प म� /ल0खए।  

ख) आने वालN अ}6वा@ष6क परNwा क� तैयारN पर चचा6 करते हुए दो /म	� के बीच हुई  

    बातचीत को संवाद के ]प म� /ल0खए। 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST -2/ HALF YEARLY EXAMINATION 

SESSION: 2023 – 2024 

Class: V                                                                                        Maximum Marks: 80 

Subject: Mathematics                                                            Time: 2 Hours 30 Minutes 
General instructions: 

1. This question paper consists of 29 questions divided into 5 sections A, B, C, D and E. 

2. All questions are compulsory. 

3. Section A comprises of 8 questions of 1 mark each.  

4. Section B comprises of 6 questions of 2 marks each. 

5. Section C comprises of 5 questions of 3 marks each. 

6. Section D comprises of 5 questions of 4 marks each. 

7. Section E comprises of 5 questions of 5 marks each. 

 Section: A  

1. What is the smallest odd composite number? (1) 

2. Find the sum of 0.2, 0.02 and 0.002.  (1) 

3. Which of the following is not a prime number? 

a) 97                     b) 41                c) 79                  d) 93                 

(1) 

4. What is the multiplicative inverse of  
1

3
 ? (1) 

 Fill in the blanks:  

5. Digit in the ones place of the product of 783 and 887 is _______. (1) 

6.  559.2 ÷______ = 5.592. (1) 

7. Decimal form of 8 
3

100
 is _________. (1) 

8. 900 million = _______ crores. (1) 

 Section: B  

9. Write the predecessor and successor of 39,400,654. (2) 

10. What should be added to 3,72,61,483 to get 4,89,70,619? (2) 

11. Is 6 a factor of 384? Give reason. (2) 

12. Simplify: 

0.1 + 0.001 - 0.01 

(2) 

13. Present the number on a place value chart: 76.002 (2) 

14. Convert into decimal: 
3

20
 (2) 

 Section: C  

15. Using factor tree method, find the prime factorisation of 40. (3) 

16. An engine pumps 2,85,000 litres of water in five hours. How many litres of water will the 

engine pump in one minute?  

(3) 

17. Cost of 1 kg of apples is ₹150. What is the cost of 3
1

2
 kg of apples? 

(3) 

18. Arrange in ascending order: 0.009;  0.901;  0.109;  0.910;  0.019;  0.091 (3) 

19. Divide: 9.63 by 0.9 

 

(3) 
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 Section: D  

20. Draw an Indian Place value chart and enter the numeral 45,86,54,123 in it. Also compare 

the place values of two fives in the given numeral. 

(4) 

21. Divide the sum of  
11

12
 and 

2

3
 by their difference. 

(4) 

22. 
Arrange in descending order:   

7

10 
,

5

6
 ,

9

8
 , 

8

10
 

(4) 

23. a) Define like decimals with examples. 

b) Change it into like decimals:   2.5,  2.55,  356.54,  1.2389 

(4) 

24. Fill in the blanks: 

a)         × 7.5 = 7500 

b) 0.25 ÷ 0.25 =  

c) 0.5 ×           = 0 

d) 6 ÷ 0.2 =  

(4) 

 Section: E  

25. In an election, the winning candidate got 6,28,496 votes and his rival got 4,56,298. If 3,846 

votes were declared invalid, what was the total number of votes polled? Also, find the 

number of extra votes that was polled to the winning candidate than his rival. 

(5) 

26. Mr. Gupta bought 2
2

5
 kg of potatoes, 2 kg of onions and 3

2

3 
 kg of tomatoes. Find the total 

weight of vegetables Mr. Gupta bought. 

(5) 

27. In a class of 40 students, 
1

5
 are girls. Find the number of girls and boys in the class. (5) 

28. The sum of three decimal numbers is 75.3. If two decimal numbers are 34.82 and 25.058 

respectively, find the third number. 

(5) 

29. The cost of a pen is ₹17.50. Karan has ₹180. How many pens can he purchase? How much 

money will be left with him? 

(5) 

 

********* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2/ HALF YEARLY EXAMINATION 

SESSION: 2023-2024 

Class:  V                                     Maximum Marks: 80 

Subject: Bengali                                                               Time: 2 Hours 30 Minutes

                                  

নির্দেনিকা: ক) এই প্রশ্নপ্রর্ে ম োট ৪ নট নিভাগ আর্ে ও ম োট ১৬ নট প্রশ্ন আর্ে।  
          খ) এই প্রশ্নপ্রর্ে ম োট ৩ নট পৃষ্ঠো আর্ে।    
 

 নিভোগ - ক  

1. অনুচ্ছেদটি ভাচ্ছ াভাচ্ছে পচ্ছ া এেং টনম্নট টখত প্রশ্নগুট র উত্তর দাও। 
সচ্ছতেন্দ্রনাচ্ছের ো েটিক্ষা শুরু হয় নর্মা  সু্কচ্ছ । কচ্ছয়ক েছর পচ্ছর তাচ্ছক টহনু্দ সু্কচ্ছ  ভটতম করা হয়। 
এন্ট্রান্স-এর টিস্ট পরীক্ষায় জ্োটর্টতর সর্সোগুট র অচ্ছনক রকর্ ভাচ্ছে সর্াধান কচ্ছর টতটন টদটখচ্ছয়টছচ্ছ ন 
েচ্ছ  গটিচ্ছতর টিক্ষক সন্তুষ্ট হচ্ছয় সচ্ছতেন্দ্রনােচ্ছক ১০০ র র্চ্ছধে ১১০ নম্বর টদচ্ছয়টছচ্ছ ন। এন্ট্রান্স পাি কচ্ছর 
সচ্ছতেন্দ্রনাে টপ্রটসচ্ছেটন্স কচ্ছ চ্ছজ্ টেজ্ঞাচ্ছনর ক্লাচ্ছস ভটতম হচ্ছয়টছচ্ছ ন। আই.এস.টস, টে.এস.টস এেং 
এর্.এস.টস- এই টতন পরীক্ষাচ্ছতই সচ্ছতেন্দ্রনাে প্রের্ স্থান অটধকার কচ্ছরটছচ্ছ ন। এর্.এস.টস পাি কচ্ছর 
টতটন ক কাতা টেশ্বটেদো চ্ছয়র টেজ্ঞান কচ্ছ চ্ছজ্র অধোপক হচ্ছয়টছচ্ছ ন। কচ্ছয়ক েছর পচ্ছর টতটন ঢাকা 
টেশ্বটেদো চ্ছয় পদােমটেদোর অধোপক হচ্ছয় একটি বেজ্ঞাটনক প্রেন্ধ পাটিচ্ছয়টছচ্ছ ন টেশ্ব টেখোত টেজ্ঞানী 
আইনস্টাইচ্ছনর কাচ্ছছ। সচ্ছতেন্দ্রনাচ্ছের গচ্ছেষিা ব্ধ তত্ত্বটি টতটন টর্চ্ছন টনচ্ছয়টছচ্ছ ন। টতটন এই তত্ত্বটির 
নার্ টদন ‘টোস সংখোয়ন’। ছাত্র জ্ীেন টেচ্ছকই সচ্ছতেন্দ্রনাে ভাচ্ছ া এসরাজ্ োজ্াচ্ছত পারচ্ছতন। সংসৃ্কত 
কােে টেচ্ছক আেৃটত্ত করচ্ছত পারচ্ছতন। অেসর সর্য় টতটন টের্ন েনু্ধচ্ছদর সচ্ছে েচ্ছস র্জ্ট চ্ছস আচ্ছ াচনা 
করচ্ছতন, টতর্টন ছাত্রচ্ছদর সচ্ছে টখ াধু াও করচ্ছতন। এর্নটক টদচ্ছির টেপ্লেীচ্ছদর সচ্ছে টতটন টগাপচ্ছন 
টোগাচ্ছোগ রাখচ্ছতন এেং নানাভাচ্ছে তাচ্ছদর সহায়তা করচ্ছতন। র্াতৃভাষার সাহাচ্ছেে টেজ্ঞান টিক্ষা টদওয়ার 
কো টতটন প্রের্ েচ্ছ  টগচ্ছছন। 
ক) মকোন্ পরীক্ষায় সচ্ছতেন্দ্রনাে জ্োটর্টতর সর্সোগুট র সটিকভাচ্ছে সর্াধান কচ্ছরটছচ্ছ ন ? 
খ) গটিচ্ছতর টিক্ষক তাচ্ছক কত নম্বর টদচ্ছয়টছচ্ছ ন ? 
গ) এর্. এস. টস পাি কচ্ছর সচ্ছতেন্দ্রনাে মকোন্ কচ্ছ চ্ছজ্র অধোপক হচ্ছয়টছচ্ছ ন ? 
ঘ) সচ্ছতেন্দ্রনাে বেজ্ঞাটনক প্রেন্ধটি কাচ্ছক পাটিচ্ছয়টছচ্ছ ন ? 
ঙ) সচ্ছতেন্দ্রনাচ্ছের গচ্ছেষিা ব্ধ তত্ত্বটির নার্ কী টদওয়া হয় ? 
চ) টতটন মকোন্ কােে টেচ্ছক আেৃটত্ত করচ্ছত পারচ্ছতন ?  
ছ) ছাত্র জ্ীেন টেচ্ছক টতটন মকোন্ োদেেন্ত্র োজ্াচ্ছতন ?  
জ্) সচ্ছতেন্দ্রনাে মকোন্ ভাষায় টেজ্ঞান টিক্ষা টদোর কো েচ্ছ  টগচ্ছছন ? 
ঝ) অেম ট চ্ছখা - জ্গৎ 
ঞ) টেপরীত িব্দ ট চ্ছখা – পাি 

(1×10=10) 

 নিভোগ - খ  

2. টে টকাচ্ছনা একটি টেষয় অে ম্বচ্ছন একটি অনুচ্ছেদ রচনা কর্ ো। 
ক) পটরচ্ছেি দূষচ্ছির ফ       খ) টখ াধু ার প্রচ্ছয়াজ্নীয়তা     গ) স্বার্ী টেচ্ছেকানন্দ 

(5×1=5) 

3. টে টকাচ্ছনা একটি টেষয় অে ম্বচ্ছন পত্র রচনা কর্ ো।   
ক) নেেষম উপ চ্ছক্ষে টতার্ার গ্রাচ্ছর্ একটি টর্ া হচ্ছয়চ্ছছ। টসই টর্ া টদখা এেং আনন্দ উপ টব্ধর কো 
জ্াটনচ্ছয় টতার্ার েনু্ধচ্ছক একটি পত্র ট চ্ছখা। 

(5×1=5) 
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অেো 
খ) পে দুঘমিনা এ াচ্ছত ট্রাটফক টনয়র্ টর্চ্ছন চ া উটচত। ট্রাটফক টনয়র্ টেষচ্ছয় সচ্ছচতনতা েৃটির 
প্রচ্ছয়াজ্নীয়তা জ্াটনচ্ছয় টতার্ার ভাইচ্ছক একটি পত্র ট চ্ছখা। 

 নিভোগ - গ  

4. সটিক উত্তরটি টনেমাচন কচ্ছর মের্খো -  
ক) স্পিমেিমগুট র অপর নার্ (নাটসকে / েগমীয় / অচ্ছঘাষ) েিম। 
খ) েচ্ছগমর তৃতীয়, চতুেম ও পঞ্চর্ েিমচ্ছক ে া হয় (অল্পপ্রাি / র্হাপ্রাি / টঘাষ) েিম। 
গ) েেঞ্জনেিম ও স্বরেচ্ছিমর টোগ সাধনচ্ছক ে া হয় (োনান / রীটত / ধ্বটন)। 
ঘ) োগেচ্ছন্ত্রর সেচ্ছচচ্ছয় কর্ টচষ্টায় একটি িচ্ছব্দর েতিুকু অংি একসচ্ছে উচ্চাটরত হয় তার নার্ (িব্দ /    
   েিম / অক্ষর)।  
ঙ) ‘র্রীটচকা’- িব্দটিচ্ছত েিম আচ্ছছ (সাতটি / আিটি / নয়টি)। 

(1×5=5) 

5. ক) টর্ািা হরচ্ছফ ট খা িব্দগুট র েদচ্ছ  একটি কচ্ছর টেপরীতােমক িব্দ েটসচ্ছয় োকেটি পুনরায় মের্খো - 
    i) টছচ্ছ টি ভীষি রূ্খম।  
    ii) ধনী ট াক চাই, নাহচ্ছ  একাজ্ হচ্ছে না। 
    iii) পেমত আচ্ছরাহি করা টিরপাচ্ছদর কাজ্।  
খ) সটিক টেপরীতােমক িচ্ছব্দর টজ্া াটি টেচ্ছছ টনচ্ছয় ট মখো -  
     i) টনদ্রা-জ্াগরি / টর্ৌন-চুপচাপ / েি-খোটত 
     ii) প্রিস্ত-সংকীিম / আোহন-আগর্ন / জ্ীেন-জ্নর্ 

(1×5=5) 

6. সটিক সচ্ছর্াচ্চাটরত টভন্নােমক িব্দ েটসচ্ছয় িূনেস্থান পূরি কর্ ো। 
ক) _________ হওয়াচ্ছত টছচ্ছ টি দুেম  হচ্ছয় প  । (জ্  / জ্বর) 
খ) রচ্ছর্ি টরাজ্ টেদো চ্ছয়_________ কচ্ছর োয়। (প া / পরা)  
গ) োেুই পোনখ   _________ টদখচ্ছত খুে সুন্দর। ( নীর / নী )  
ঘ) রাজ্স্থাচ্ছন টগচ্ছয় টেিা _________ টদখ ার্। ( প্রসাদ / প্রাসাদ) 
ঙ) একটি _________েেটি আজ্ আর্াচ্ছদর োট চ্ছত এ । ( টদন / দীন) 

(1×5=5) 

7. োর্টদচ্ছকর সচ্ছে োনটদক টর্ট চ্ছয় মের্খো - 
োর্টদক োনটদক 

ক) তারা অ) গুট  
খ) চুট  আ) েৃন্দ 
গ) টগারু ই)  োেো 
ঘ) সভে ঈ) গাছা 
ঙ) টর্ঘ উ) র্ণ্ড  

 

(1×5=5) 

 নিভোগ - ঘ  

8. অেম মের্খো -  (i) ধীর্ান  (ii) টর্াটহত  (iii) র্ ক  (1×3=3) 

9. োকেটি পচ্ছ া এেং সতে/টর্েো মের্খো - 
ক) পটেকরা সতেই টজ্োটতষ গিনা জ্ানত। 
খ) েৃন্দােচ্ছনর গ্রাচ্ছর্র নার্ চোকদহ। 
গ) টিশুরা টঝনুক টনচ্ছয় খোিো  বতটর কচ্ছর । 
ঘ) পচ্ছরাপকারই র্ানুচ্ছষর টেষ্ঠ গুি । 
 

(1×4=4) 
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10. িন্ধিী টেচ্ছক সটিক উত্তরটি টেচ্ছছ টনচ্ছয় মের্খো -  
ক) ‘পারাোর’ িচ্ছব্দর অেম কী ? — (টকাচ্ছনা কাজ্ পারা / পার করা / সরু্দ্র) 
খ) ‘টিশু’ কটেতায় টিশুরা টভ া োনায় কী টদচ্ছয় ? — (কাগজ্ / কাি / পাতা) 
গ) ‘কভু’ কোর অেম কী ? - (কখনও / টকন / টকউ) 

(1×3=3) 

11. একটি োচ্ছকে উত্তর মের্খো - 
ক) সসাগরা পৃটেেী ে চ্ছত কী টোচ্ছঝা ? 
খ) েৃন্দােচ্ছনর গ্রাচ্ছর্র োিাচ্ছরর কী নার্ নেে ? 
গ) টকান্ গ্রাচ্ছর্র অেস্থা প্রটতরু্হূচ্ছতম ভীষিতর হচ্ছয় উচ্ছিটছ  ? 
ঘ) টিশুরা টকাোয় টখ া কচ্ছর ? 
ঙ) টিশুরা কী টদচ্ছয় ঘর িোিোয় ? 

(1×5=5) 

12. কচ্ছয়কটি োচ্ছকে উত্তর মের্খো - 
ক) রক্ষীরা পটেক দুটিচ্ছক ধচ্ছর এচ্ছনটছ  টকন ? 
খ) ‘ভাসায় তারা টখ ার তরী’- টিশুরা তরী ভাসায় টকন ?  
গ) কাি ও টসানার র্হত্ত্ব টকাোয় ?  

(2×3=6) 

13. নীচ্ছচর প্রশ্নগুট  টনচ্ছজ্র ভাষায় উত্তর ট মখো - 
ক) “…আটর্ সম্রাি হইে, ও আর্ার র্ন্ত্রী হইচ্ছে।” – টক, কাচ্ছক একো েচ্ছ টছ  ? এরপর উটিষ্ট েেটি  
    কী কচ্ছর ?  
খ) “র্নগ া িাস্ত্র আটর্ র্াটন না।”- টক, কাচ্ছক একো েচ্ছ টছ  ? এই উটির র্ধে টদচ্ছয় েিার চটরচ্ছত্রর 
কী পটরচয় পাওয়া োয় ?  
গ) ‘পচ্ছরাপকার’- িব্দটির অেম কী ? এই কটেতায় কটে কী ে চ্ছত টচচ্ছয়চ্ছছন তা টনচ্ছজ্র ভাষায় ট চ্ছখা। 

(3×3=9) 

14. একটি োচ্ছকে উত্তর দাও - 
ক) ‘ব্রাহ্মচ্ছির কুসংস্কার’ গচ্ছল্প ইঁদুরটি কী টকচ্ছি টদচ্ছয়টছ  ? 
খ) শ্মিাচ্ছন টফচ্ছ  আসা কাপ  েুিচ্ছদে পচ্ছর টকান্ টদচ্ছক চচ্ছ  টগচ্ছ ন ? 
গ) কািচ্ছিাকরা রূচ্ছপ টক জ্ন্মগ্রহি কচ্ছরন ?  
ঘ) টসংহ গাছ ত ায় েচ্ছস র্চ্ছনর আনচ্ছন্দ কী করটছ  ? 
ঙ) োরাণসীর রাজ্া টক টছচ্ছ ন ? 

(1×5=5) 

15. টসংহটিচ্ছক ‘অকৃতজ্ঞ’ ে া হচ্ছয়চ্ছছ টকন ? তার টিষ পটরিটত কী হচ্ছয়টছ  ? (2×1=2) 

16. ‘এইভাচ্ছে েুিচ্ছদে ব্রাহ্মিচ্ছক উপচ্ছদি টদচ্ছত  াগচ্ছ ন’- েুিচ্ছদে ব্রাহ্মিচ্ছক কী কী উপচ্ছদি টদচ্ছয়টছচ্ছ ন? 
এই উপচ্ছদিগুট  পা চ্ছনর ফচ্ছ  র্ানেজ্ীেচ্ছন কীরূপ উপকার হচ্ছত পাচ্ছর েচ্ছ  তুটর্ র্চ্ছন কচ্ছরা। 

(3×1=3) 

 

*************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
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General Instructions:  

• This question paper consists of 4 pages and 14 questions.  

• All the questions are compulsory. 

 

 SECTION A: READING SKILL (10 MARKS)  

1. a. Read the passage carefully and answer the following questions: 

A railway station is a world in itself. Like life, it presents different scenes at different 

times. At times the scene is full of great activities; at times it is comparatively calm, 

quiet and even deserted. Last Sunday I got an opportunity to see off my cousin at the 

railway station. There was a great rush at the booking window. Everybody was 

impatient to get the ticket. Even the so-called educated people also behaved like 

illiterate people. The platform, against our expectations, was a scene of hectic 

activities, hustle and bustle. It seemed as if the whole of the city had come to the 

railway station. They seemed to be busy in conversation but actually, they were 

anxiously waiting for the train. Thank God! At last the train arrived. Now a strange 

fire was added to the excitement of the people. But the train swallowed almost all the 

passengers. In a few seconds, the platform presented a sad and deserted look. 

i. Where did the narrator see rush in the railway station? 

ii. How did the so-called educated people behave at the railway station? 

iii. Find out the opposite of the word 'calmly' from the passage and write. 

iv. What did the narrator experience in the railway station when he reached the 

station to see off his cousin? 

 

b. Read the passage carefully and answer the following questions: 

The biggest holiday in Nepal is Dashain, a ten – days festival for the Hindu goddess 

Durga that takes place in September or October. According to Hindu beliefs, Durga 

defeated the evil demons of the world. To thank the goddess, people visit temples in 

her honour and sacrifice goats or sheep as offerings. Throughout the year, most 

Nepalis do not eat much meat because it is expensive, but Dashain is a time to enjoy 

meat every day. Children fly colourful, homemade kites during Dashain. People also 

construct enormous bamboo swings on street corners and in parks. Every evening 

people gather at these swings and take their turns. Nepalis say that by swinging, 
people can relieve the earth of their weight, if only for a few minutes out of the year. 

Dashain is a time for people to eat good food, relax, and enjoy themselves. 

 

i. To thank the goddess, people _______________________________. 

ii. Find out the synonym of the word 'costly' from the passage and write. 

iii. What is the Hindu belief about goddess Durga? 

iv. Write two things that the people of Nepal do during the Dashain festival. 

 

 

  

 

 

 

 

 

 

 

 

 

 

(1) 

(1) 

(1) 

(2) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(1) 

(1) 

(1) 

(2) 
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2. 

                            SECTION B: WRITING SKILL (20 MARKS) 

 

Your school is organizing a book fair. As the school captain of the school, write a 

notice to be put up in the school notice board informing the students about it. 

Encourage the students to buy and read books. Provide all the necessary details about 

the book fair. 

OR 

Prepare an advertisement to attract the attention of the customers for a new herbal 

shampoo. 

OR 

Draft a bio-sketch of A.P.J. Abdul Kalam based on the information provided. Add 

other relevant information to complete the bio- sketch. 

 

Full name: Avul Pakir Jainulabdeen Abdul Kalam 

Parents: Jainulabiddin, Ashiamma 

Birth: 15th October 1931, Rameshwaram, Tamil Nadu 

Death: 27th July 2015, Shillong 

Known as: 'Missile Man of India' 

Education: Degree in aeronautical engineering, graduate from Madras Institute of 

Technology 

Career: Joined Indian Space Research Organization as a scientist, director of DRDO, 

India's 11th President (2002-2007) 

Achievements: Contributed to develop 'Agni' and 'Prithvi' missiles 

Autobiography : "Wings of Fire" 

Awards: Padma Bhushan, 1981; Padma Vibhushan, 1990; Bharat Ratna, 1997 

Vision: Stronger India with more enlightened youth 

 

 

(4) 

3. We all know the importance of saving water. Prepare a speech for the assembly to 

create awareness among the students about the ways of saving water and encouraging 

them to do the same. 

(8) 

4. Hobbies are a great stress reliever. They help us to improve the quality of our life. 

Write a letter to your best friend stating about a hobby that you have recently 

developed. Share how it helps you to get rid of everyday stress. 

(8) 

 

 

    5. 

                     SECTION C: GRAMMAR (20 MARKS) 

 

Rewrite the sentences using apostrophe in proper place: 

a. Rajam will not come to school tomorrow. 

b. Rohit stays in a boys hostel. 

 

 

(1×2=2) 

6. Fill in the blanks with correct determiners: 

a. _______ of the students had to submit the project. (each/every) 

b.  I have brought ________ sweets for you. (any/some) 

c. I don't have _________ time to complete the project. (much/many) 

 

 

(1×3=3) 
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7. Change the words given in the brackets into abstract nouns and fill in the 

blanks: 

a. The ________ of the boy is praiseworthy. (courageous) 

b. We must stop the __________ of water. (waste) 

c. It was a ___________ to meet my old teachers. (please)  

(1×3=3) 

8. Fill in the blanks with the proper degree of adjectives: 

a. Rita likes drawing because it is ____________ than Science. (easy) 

b. My dress is as ____________ as yours. (pretty) 

c. The red rose is the _____________ flower in the garden. (beautiful) 

(1×3=3) 

 

 

9. Identify the verbs and state whether they are Transitive or Intransitive: 

a. He reads interesting novels. 

b. The young boy felt energetic. 

c. She eats very often. 

(1×3=3) 

10. Identify the adverbs and state their kinds: 

a. Open the door quickly. 

b. My uncle will come tomorrow. 

c. Please come here and meet me. 

(1×3=3) 

11. Fill in the blanks to complete the sentences in present perfect tense: 

a. Dhruv _________ (write) a letter to his friend. 

b. Prinsika _________ (buy) a new pencil box. 

c. I _________ (eat) my meal. 

(1×3=3) 

 

12. 

                       SECTION D: LITERATURE (30 MARKS) 

A. Choose the correct option: 

i. The meaning of the word ‘pursuing’ is: 

       a. lots of worries.     

       b. to keep doing.     

       c. to keep waiting. 

       d. to keep thinking. 

ii. Janaki could not make a solo attempt because - 

       a. the trainer was not available.       

       b. the sea was turbulent. 

       c. she didn’t get permission from the association.   

       d. the special boat was not available. 

 

 

 

 

(1×3=3) 
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iii. Mani and Rajam were sworn enemies. In this context, the idiom ‘sworn  

      enemies’ means- 

       a. one’s own worst enemy. 

       b. who can never be enemies. 

       c. both have their friends as enemies. 

       d. people who can never be friends. 

 

B. Write whether the following statements are true or false: 

      i. According to the poem 'Just Be Up and Doing', few ever fail who wait. 

      ii. The poet compares himself with the engineer of the magic ship. 

      iii. Janaki fought against her limitation and won the battle. 

C. Fill in the blanks: 

       i. Fortune can be won only through complete ______________. 

      ii. Benny borrowed a book named ______________ from Henry. 

     iii. One of Tom's ______________ was loose. 

D. Answer the following questions in one word: 

      i. What is the meaning of the word ‘outrageousness’? 

     ii. Name the capital of the Kuru kings. 

     iii. How long did Janaki swim in the English Channel? 

 

 

 

 

 

 

 

 

 

 

(1×3=3) 

 

 

 

 

 

(1×3=3) 

 

 

 

 

 

(1×3=3) 

 

13. Answer the following questions briefly: 

      a. Why did Tom pretend to be sick on that Monday morning? 

      b. Why has the poet compared the books with zoos? 

      c. Why was July 28, 1992 an important day in Janaki’s life? 

      d. ‘And who dares to talk of Rajam here?’-  

            Who is the speaker of the above statement and why did he say so? 

     e. What did Benny’s mother say about Benny’s habit of reading books? 

     f. ‘The three youngsters could hardly believe their eyes.’ –  

           What couldn’t they believe?  

    g. ‘I wouldn’t like this to happen to me again.’ –  

         Who made the above statement and why? 

(2×7=14) 

 

14.  ‘Determination and will power can move mountains’. Ekalavya proved it in 

his life by overcoming all difficulties. List the qualities of Ekalavya that made 

Dronacharya acknowledge “Real courage is fighting against wrong limits and 

respecting the correct ones.” 

       (4) 

 

************* 
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निरे्दशा:  

1. अस्मिि    प्रश्नपत्रे खण्ड-त्रयि   अस्मि। 
2.  प्रनिखण्डमय उत्तरास्ि पथृक   प्रर्दत्तायाि    उत्तरपुस्मिकायाां लेखिीयानि। 
3. प्रत्येकां  खण्डि    अनिकृत्य उत्तरास्ि क्रिेि लेखिीयानि। 
4. प्रश्नसङ्ख्या प्रश्नपत्रािुसारां लेखिीया। 
5. खण्डसङ्ख्या अपप लेखिीया। 
6. अस्मिि    प्रश्नपत्र े10 प्रश्ना: 4 पषृ्ठानि च सस्ति। 

 खण्डः – ‘क’ (पठिि-अवबोििि  ) (10)  

1. पाठयाांशां पठित्वा प्रश्नािाि   उत्तरास्ि निरे्दशािुसारां नलखि।  

 अहा! ििुरा प्रभािवेला। आकाशे सूययः उठर्दिः। अतिकारः गिः। सवयत्र प्रकाशः एव प्रकाशः 
अस्मि। खगाः आकाशे अत्र-ित्र भ्रिस्ति। वकृ्षेषु वािराः कूर्दयस्ति। जिाः प्रसतिाः सस्ति। ि े
उद्यािेषु भ्रिस्ति िावस्ति च। बालाः अपप उद्यािेषु क्रीडस्ति। पशवः अपप प्रसतिाः सस्ति। ि े
विेषु अत्र-ित्र गच्छस्ति। सवे जिाः मवकायेषु सांलगिाः भपवष्यस्ति। 
अहा! ितया एषा सुखर्दानयिी प्रभािवेला। 

 

 I. एकपरे्दि उत्तरि - (1×4=4) 
 क) ििुरा का अस्मि? 

ख) कः गिः? 
ग) वकृ्षेषु के कूर्दयस्ति? 
घ) आकाश ेकः उठर्दिः? 

 

 II. पूियवाक्येि उत्तरि - (2×3=6) 
 क) खगाः कुत्र भ्रिस्ति? 

ख) के उद्यािेषु क्रीडस्ति? 
ग) के मवकायेषु सांलगिाः भपवष्यस्ति? 

 

 खण्डः – ‘ख’ (व्याकरिि  ) (20)  

2.  ‘पठ्’ िािोः सिुनचिरूप ः ररक्तमथािानि पूरयि -  
  पुरुषाः  एकवचिि    ठिवचिि     बहुवचिि   
प्रथिः पुरुषः पिनि i)________ ii) _______ 
िध्यिः पुरुषः iii) ______ पिथः iv) ______ 
उत्तिः पुरुषः v) ______ vi)______ vii)______ 

  

(1×7=7)  
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3.  उनचि-शब्र्दरूप ः ररक्तमथािानि पूरयतिु –  
  पवभक्तयः  एकवचिि      ठिवचिि    बहुवचिि   
प्रथिा i) ______    बालकौ ii) ______ 
ठििीया  बालकि   iii) _______  बालकाि   
ििृीया  iv) ______ बालकाभ्याि   v) ______ 
चिुथी  vi)_______ vii) ______ बालकेभ्यः 
पञ्चिी बालकाि   viii)_______ ix)_______ 
षष्ठी  x)_______ बालकयोः xi)_______ 
सप्तिी बालके xii)_______ xiii)________ 

  

(1×13=13) 
 

 खण्डः – ‘ग’ (पाठय-सािग्री)  (50)  

4. िञ्जूषािः उनचिां शब्र्दाथ ंनचत्वा नलखतिु -   
क) ििुरा      ख) अपप  
 

(1×2=2) 
 

5. I. िञ्जूषािः उनचिां सांमकृिशब्र्दां नचत्वा नलखतिु - 
क) िेरा        ख) छोटा भाई  

(1×2=2) 
 

 II. िञ्जूषािः उनचिां शब्र्दां नचत्वा ररक्तमथािानि पूरयतिु - 
क) एषः ______ अस्मि। 
ख) _____ अध्यापपका अस्मि। 
ग) _____ पुरुषः अस्मि। 
घ) एषा ______ अस्मि।  

(1×4=4) 
 

 III. पूियवाक्येि उत्तरि - 
क) स निकः ठकि   करोनि? 

(2×1=2) 
 

6. I. उनचि-शब्रे्दि िेलिां कुरुि - 
क) गजः                मवानिभक्तः 
ख) वािरः               र्दगुिपप्रयः 
ग) कुक्कुरः              मथूलः 
घ) पवडालः               चपलः 

(1×4=4) 
 

 II. ररक्तमथािानि पूरयतिु - 
क) यः िीव्रां िावनि सः        ___________ 
ख) यः शि ः शि ः चलनि सः   ___________ 
ग) यः विराजः अस्मि सः     ___________ 

(1×3=3) 
 

 III. पूियवाक्येि उत्तरि - 
क) के जलजीवाः सस्ति? 

(2×1=2) 
 

िञ्जूषा -  भी,  सुहाविी  

िञ्जूषा – अिुजः,  िि  

 

िञ्जूषा-   एषः,   िठहला,   िियकः,   एषा  
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7. I. फलािाां शाकािाि   च िािानि नलखतिु - 
फलािाि   िािानि –  
(i) __________      (ii) __________     (iii) __________ 
शाकािाि   िािानि – 
(iv) ___________     (v) ___________ 

(1×5=5) 
 
 
 

 II. नचत्रां दृष््वा पूियवाक्येि उत्तरि -   
क) एिमय फलमय िाि ठकि   ?                    ख) एिमय फलमय िाि ठकि   ?   

 
 
 
           

(2×2=4) 
 

8. I. नचत्रां दृष््वा खगमय िाि नलखि -  
  
 
 
 
                              
(i) एषः ______ अस्मि।    (ii) एषः _______ अस्मि।   (iii) एषः _______ अस्मि।                    

(1×3=3) 
 

 II. एकपरे्दि उत्तरि - 
क) काकमय वियः कः अस्मि? 

(1×1=1) 
 

 III. पूियवाक्येि उत्तरि - 
क) क: रात्रौ जागनिय? 
ख) खगाः कुत्र निष्ठस्ति? 

(2×2=4) 
 

9. I. नचत्रास्ि दृष््वा िञ्जूषायाः नचत्वा नलखतिु कः कालः? 

क)__________          ख)___________          ग)___________ 
 
 

(1×3=3) 
 

िञ्जूषा –  रापत्रकालः,   सायांकालः,  िध्याह्नकालः 
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 II. उनचिपर्द ः ररक्तमथािानि पूरयतिु - 
क) _____ िावनस। 
ख) _____ चलथः। 

(1×2=2) 
 

 III. पूियवाक्येि उत्तरि - 
क) रजिः प्रािःकाले ठकि   खार्दनि? 
ख) अमिाकां  आहारे केषाां िहत्त्वि   अस्मि? 

(2×2=4) 
 

10. I. अत्र पवनभतिनचत्रास्ि सस्ति। िञ्जूषािः नचत्रािाां िािानि नचत्वा नलखि - 
 
 
 
 
 
 
क)_______________      ख)_______________      ग)________________ 

 

(1×3=3) 
 

 

 
II. पूियवाक्येि उत्तरि - 
क) पवद्यालये कमय नचत्रप्रर्दशयिी अस्मि?                

(2×1=2)  

 

***************  

िञ्जूषा –   युवाि  ,   त्वां  

िञ्जूषा -  गहृि  ,   िौका,   वकृ्षः  
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i. This question paper contains 9 questions in 4 pages. 

ii. All the questions are compulsory. 

 

1. Choose the correct answer: (1×10=10) 

a. The joint in shoulder is an example of a - 

i) Hinge Joint                                               ii) Pivot Joint    

iii) Gliding Joint                                          iv) Ball and socket Joint 

 

b. The framework of bones that protects our heart and lungs is known as the - 

i) spinal cord                                      ii) skull               

 iii) Ribcage                                                   iv) pivot Joint 

 

c. Which of the following things are required for germination of seeds? 

i) Water & carbon dioxide                           ii) Soil & water  

iii) Correct temperature & air                      iv) Air, water & correct temperature 

 

d. Seeds of maize shown in figure have __ cotyledon. 

i) four                                                         ii) two            

      iii) one                                                        iv) many 

 

e. Which one of the following is not a forest product?  

i) Honey                                                      ii) Resins          

iii) Kerosene                                              iv) Rubber 

 

f. Find the incorrect match - 

i) Mountain goat: Kasturi                         ii) South American bears: Gall bladder 

iii) Rhinoceros: Horns                              iv) Frog: Legs 

 

g. For maintaining good health, our body needs-  

i) a balanced diet                                      ii) proper rest 

iii) good personal hygiene                       iv) all of these 

 

h. Rita had weak teeth along with soft and fragile bones.  The doctor found that Rita 

was not including certain minerals in her diet. Identify the mineral. 

i) Iron                                                      ii) Calcium/ Phosphorous 

iii) Sodium                                              iv) Iodine 

 

i. Dry foods, like cereals and nuts, are preserved by _ 

i) adding salt and sugar                          ii) vacuum packing 

iii) dehydration                                      iv) pasteurisation 
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j. The fruits get covered with a whitish or orange powdery substance, due to the growth 

of - 

i) mould                                                   ii) algae                   

iii) insect                                                  iv) worm 

 

2. Fill in the Blanks with appropriate words: (1×10=10) 

a. The skull is made up of _____________flat bones.  

b. Bryophyllum reproduces through ________________.  

c. Pearls, used as jewellery are obtained from _____________.  

d. The Forest Conservation Act was enacted by the Indian Parliament in __________.  

e. _____________ is essential for forming haemoglobin in the blood.  

f. The eye is connected to the brain by a nerve called ___________.  

g. Trees help in checking global warming by absorbing _____________.  

h. Onions and potatoes are stored in the kitchen shelves at _____________.  

i. The process by which a young plant grows from a seed is called____________.  

j. The method by which air is removed from the package prior to sealing is _______.  

3. Re-write the following sentences correctly: (1×5=5) 

a. Stomata are the tiny pores present on the seed.  

b. Bharatpur Bird Sanctuary, in Gujarat, is the largest bird sanctuary in Asia.  

c. Caviar, a very costly delicacy is made from fertilized eggs of a variety of fishes.  

d. Germs of measles and chicken pox spread through water.  

e. Insects and worms make their home in dry and dark places and where food items are 

available. 

 

4. Match column A with column B: 

Column A Column B 

a. Lateral line i. Musical instruments 

b. Bougainvillea ii. Swollen and bleeding gums 

c. Bamboo iii. Milk, meat 

d. Scurvy iv. Fish 

e. Perishable food stuff v. Reproduction through stem cutting 

 

(1×5=5) 

 

 

 

 

 

5. Define the following: (2×3=6) 

a. Enzymes  

b. Afforestation  

c. Ligament   
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6. Write any one point of difference between the following: (2×2=4) 

a. Reproduction in potato and Reproduction in sweet potato.  

b. Communicable diseases and non-communicable diseases.  

7. Answer the following questions in brief: (2×5=10) 

a. Dogs and bats are also mammals like us.  

i) Compare our sense of smell with that of a dog. 

ii) Compare our sense of hearing with that of a bat. 

 

b.  “Forests are known as lungs of earth”– Justify.  

c. Some people hunt animals illegally for trading with their body parts. 

 i) What is this trade known as? 

 ii) According to you, whether this trade is helpful or harmful to the animals?    

Suggest any one point in support of your answer. 

 

d. Ananya was suffering from measles. Her teacher advised her not to come to school 

till she has recovered completely. Why? 

 

e. Rima has kept one piece of pumpkin in the refrigerator and another one in a basket 

in the kitchen shelf. Which piece of pumpkin will stay fresh for longer time? Give 

reason for your answer. 

 

8. Answer the following questions: (4×5=20) 

a. i) Write the ways of dispersal of seeds in the following plants. 

       Name of plants               Way of seed dispersal 

1. Coconut              .................................. 

2. Mimosa                        .................................. 

3. Lady finger             .................................. 

4. Dandelion                    .................................. 

ii) Write any two importance of vegetative reproduction in plants. 

 

b. i) In the given figure, identify A. In what way does it help the insects? 

                                                                                     

ii) What type of joint do you find in your wrist and toe? 

iii) How can bats detect their prey in the dark? 

 

A 
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c. Observe the picture carefully: 

 

Mention two reasons and two harmful effects of the activity shown in the above 

picture. 

 

d. Suggest any four steps to prevent cruelty to animals.  

e. State any four ways by which food preservation is useful to us.  

9.  a. Draw and label terrestrial food chain containing four organisms. What do you mean 

by food web? 

(5×2=10) 

b. i) Draw a diagram to show – 

        1. Symptom of Rickets 

        2. Symptom of Goitre 

ii) A person is unable to see in dim light due to dullness in eyes. He also shows dry 

and scaly skin. Identify the deficiency disease he is suffering from.  

 

                                                    

******************* 



1 
 

D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION  

SESSION: 2023-2024 

Class: V                                                      Maximum Marks: 80                                                                                             

Subject: Social Science                                                           Time: 2 Hours 30 Minutes  
General Instructions: 

• All questions are compulsory. 

• This question paper contains a total of 24 questions. 

• Marks are indicated against each question.                                                          

1. Complete the following sentences with suitable words: -                       (1×5=5) 

a. Each family follows certain customs and ________________. 

b. Caves were the ________________________________. 

c. A neighbourhood police station provides ___________________. 

d. _________ wells are called Water Temples of India. 

e. Now many women are taking up occupations that were _______________. 

2. Rewrite the incorrect statement correctly: -                         (1×5=5) 

a. The neighbours help the child to grow up into a good human being. 

b. Many Indians signed agreements to go abroad for a short time. 

c. Children who do not have the opportunity of education or a life of dignity are the example of physically  

    challenged children. 

d. Travelling has undergone a great change during King Ashoka’s rule. 

e. Chaupal establishes a direct contact between actors and audience. 

3. Choose the correct option from the given alternatives: -                          (1×5=5) 

a. Stilt houses are found in _____. 

i) Mountain areas                ii) Desert areas            iii) Coastal areas      iv) Plateau areas 

b.  Which one of them is not an example of community service? 

i) Looking after the sick                                                                   ii) Helping the poor     

iii) Sharing food with hungry people                          iv) Making hotels to earn money 

c. Find the odd one out- 

 i)  Karate                         ii) Hockey                   iii) Judo                     iv) Tae Kwon Do 

d.  A board game which was a part of Indian history and mythology was --- 

 i) Ludo                             ii) Scrabble                 iii) Chaupar             iv) Pictionary 

e. Another name for Operation flood is- 

 i) Green Revolution    ii) Silver revolution   iii) Orange Revolution   iv) White Revolution               

4. Why does praise by family members make you happy?                                                (2) 

5. Name two things that changed the orthodox thinking of people.                                   (2) 

6. List the advantages of high-rise apartments.                                                                   (2) 
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7. Why are some houses built with thick walls and flat roofs?                                           (2) 

8. Pen down the reasons why socially deprived children couldn’t enjoy their basic Rights.                (2)                                                                                                          

9. Elaborate the importance of Van Mahotsava.                                                                   (2) 

10. Discuss two qualities of a sports person.                                                                           (2) 

11. Point out how in modern times theatre has developed into a wonderful art.                     (2) 

12. With the help of the pictures given write the name of asanas-                                                     (2)               

                                                                                                                                                                                                                                                             

                                         

 

        

 

 

               a) ______________                                           b) ___________________ 

13. ‘No work is superior or inferior.’ Justify.                                                                         (2) 

14. ‘The regional variation in houses arise due to differences in landform, climate and 

       materials available.’ Name the houses of at least three different landforms and one  

       feature for each one of them.                                                                                                       (3)                                                                

15. In what ways other students are benefitted through Inclusive Education?                      (3) 

16. Which important quality do parents and teachers of physically challenged children need?        (3)  

17. If you would have been as powerful as King Ashoka, which community services would you  

     like to provide to your citizen in modern times.                                                               (3) 

18. Many women suffer due to Gender Discrimination. Explain any three such discriminations  

     in the society.                                                                                                                    (3) 

19. Anand’s family lives in a village. Heavy rainfall has caused a situation of flood in the  

      village. As a result, Anand’s family is leaving the village. Identify the type of migration.  

       Mention the effects of such migration on the people.                     (5)                                                                                                       

20. Cite the importance of Bhimbetka rock shelters. Analyse the responsibilities of a good 

       neighbour.                                                                                                                (5) 

21. Describe water harvesting. Interpret the ways in which water harvesting in olden times is 

       different from that of modern times.                                                             (5) 

22. Explain the term ‘Dignity of Labour’. Differentiate between Skilled and Un-skilled work       (5) 

      with example.                                                                                                                      

23. Design a web chart to show the various processes involved in White Revolution. Illustrate      (5) 

      the occupation that you admire the most.                                                               

24. On the given outline map of India label and colour the following: -                        (1×5=5) 

a. A state which witnessed Hud Hud floods. 

b. A state where Bhimbetka caves are located. 

c. A state where Surajkund is located. 

d. A state known as ‘God’s own country.’ 

e. A state where Eden Garden Cricket Ground is located. 

                                           ********************************** 
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